RIGOUR

48 MNU 2-03b Homework 5
Outcome 1
Multiplying by 10
& bHx10 & 10x3 P
= 40x10 & 10x53 ]
5 170 x 10 g 932x10 F-1
r 4 10 x 4500 8 7456 x10 Z
= 92 368 x10 1g 10x56 740 S

Outcome 2
Dividing by 10
40+ 10 « 90+ 10
700 + 10 & 540+ 10
1200 + 10 & 5100+ 10
12 300 + 10 8 63800+ 10
405000+ 10 g 368000+ 10

Outcome 3
Multiplying by Multiples of 10

& 3x60 & 8x20 -
= 32x20 & bH0x23 -
5 12x30 g 40x74 &
% 618 x50 8 362x80 4
a 90x4381 lg 7483 x70 8

Outcome 4
Dividing by Multiples of 10

180 + 20 & 320+ 40
210 = 30 & 240+ 80

3500 + 70 & 5400+ 90
4500 = 50 8 2700+ 30

48 000 + 60 Lg 56000 + 80
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